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Proposition 4.12. Let X C B*,

. & " w1 - & s S
(a) If X is computable, then so is B*\ X, i.e., being computable is closed under complemen-
—

tation.

(b) A set X is computably enumerable if and only if it is the domain of a computable partial
function. (If & = 1, this is equivalent to “there is an M such that X = Wy, ".)

(¢) Every computable set is computably enumerable.
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This corresponds to ordering all binary words first by length and words of the same length
lexicographically. This order is usually called the shortler order:

W <ghortlex V P = [“ll < |I'PI or
lw| = |v] and w # v and
if ¢ is minimal such that w(i) # v(i). then w(i) =0 # 1 = v(i).

H#  docode¢ o chidg wd HT euesks @ womber
L8N #EN—R




